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using Block for Block.Object;

using Store for Store.Object;

using Transition for Transition.Object;
using SafeMath for uint256;

using ECDSA for bytes32;

uint256 public height;

bytes32[] storelList;

bytes32[] reducerList;

mapping(bytes32 => bytes32[]) references;

Transition.Object[] transitionsOfCurrentBlock;

mapping(bytes32 => Reducer) private reducers;

mapping(bytes32 => Store.Object) private stores;

bytes32[] blocks;
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library Store {
struct Object {
string name;
string[] actions;
mapping(string => bytes32) allowedReducers;

MerkluxTree tree;

function initialized(Object memory store) internal pure returns (bool) { u-IE-EJAE q _-’Hll‘% u-IE-EEIO-" x-lg"ﬁl.,‘E

return (store.tree != address(0)); — - = =
} [HE AEHE ANEolH SEt201e] 2=
| | | | MEHE 22I8HCE.
function getStoreHash(Object storage store) internal view returns (bytes

bytes32[] memory reducers = new bytes32[](store.actions.length);

for (uint i = 0; i < store.actions.length; i ++) { jEIﬂ u'IE'E—.IA A["'E ﬁEEIEFJOI EHEQI‘
d [i] = .all dRed [ g i TitIIlg .
reducers[i store.allowedReducers[store.actions[i mg_ AEO’I% ﬂ[-"OIEOHE aﬂ% XIHEI‘

return keccak256(abi.encodePacked(
store.name,
FIXME nested dynamic array error
reducers,

store.tree.getRootHash()



function dispatch(string _store, string _action, bytes _data) external returns
bytes32 _storeKey = keccak256(abi.encodePacked(_store));

Store.Object storage store = stores[_storeKey];

require(store.initialized())

bytes32 reducerKey = store.allowedReducers[_action];

require(reducerKey != bytes32(0));

require(reducers[reducerKey] != address(0));

bytes memory key;

bytes memory value;

bytes32[] memory referredKeys;

(key, value, referredKeys) = reducers[reducerKey].reduce( ;itore.tree, msg.se

store.tree.insert(key, value);

_addReferences(_storeKey, referredKeys);

_dispatchTransition(

_store,
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Partial Merkle Tree
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